Klammer mal Klammer 2

1.

Lose die Klammern auf und fasse zusammen.

a)(x+y)x—-y+2) b) (a+ 3)(a-2) c) (a+5)(a-2)
d) (c+b)(c—b+2) e) (x +3)(x + 4) ) x=2)(5-X)

Lose die Klammern auf und fasse zusammen.

a)(@a+7b)3b—-2a+5) b)(a+4)(a—4)-a2 c) (7b + 3r)(7b — 3r)
d) (k + 1)(k—9) e) (2-y)y—7)—3y? f) (x+2)(x=7)+x(5-X)

Lose die Klammern auf und fasse zusammen.

a)(m+4)(m-3)+(m-1)(m-2) b) (x + 3)(x —1) - 3(x — 1) — x2
c) (8b+2rn(2b—4r) —(2b +1r)(3b—4r) d) (2x—y + z)(x2 — 47X)
e) (3x + 2y)(—4x — 3y) — 5x2 + 12y2 f) (2a + 3b)(-3a — 5b) — 17a2 — 48h2

Ldse die Klammern auf und fasse zusammen.

a) (4x—-3)(2x—4)— (2x + 6)(3x — 2) b) By - 5)(7y —11) — (2y — 1)(3y — 4)
c) (Bx + 3)(2x — 3) — (4x — 1)(2x + 5) d) 17xy — (4x + 3y)(8x — 2y)

e) 9rs — (2r + 3s)(—4r — 2s) f) (9a — 3b)(12a — 5b) — 14ab — 5a2

Lose die Klammern auf und fasse zusammen.

a) 6y2 + 4x2 — 22 + (2x + 3y)(3x — 4y) b) 28a’ + (5a — 4a?)(a + 4a?) — 4a% — 3a3
€) 35— (11 —-5x)(3 — 2x?) + 2x2+ 3x3—4x d) (a — 2b)(2a — 3b) — (a — 4b)(3a — 3b)
e)(X+7)(Xx=3)—3xx—-xX+1)(x-9) f) (Qa+5)(2a—7)—3az—(a—1)(a+ 3)

Lose die Klammern auf und fasse zusammen.

a) la—ﬂbj-(za—ibj—lbz
3975 10°) 15

b) §+9j-(3a+6b)—(§a2—1b2j
2 2 4 2
C) X_lyj.(§x_§ j_[_lx_gy).(§x+l j_§x2+§ 2
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